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Chapter 10
Cellular Reproduction
Review Guide
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What are the main reasons for Cell Reproduction? H£i{ 1 Cj‘i(f)i»)
What holds the sister chromatids together? c eanvtiemere
List 2 advantages of asexual reproduction. 4uic¥ fast '
List 2 advantages of sexual reproduction. \Ncrzuse Vovitiy, dynamec pop
Explain the difference between a prokaryotic and eukaryotic chromosome.
Name the 3 main stages of the cell cycle in order. |ntexphase — Mitesis—C(~tokineses
Name the first step of interphase. What happens during this step? (51 — Prepas? | dospie ovganales
Name the second step of interphase. What happens during this step? S - Chvomespnes Aupl iceded
Name the third step of interphase. What happens during this step? &z - Vvepare for mutosis
. Name the 2 types of cells that never divide once developed. usci€ +inerve
. List the 4 steps of mitosis m orfie_r. 7 a.pha.w; -Medopuge - Anmphase - Te ophas <
. Describe the first step of mitosis in detail.
. Describe the second step of mitosis in detail.
. Describe the third step of mitosis in detail.
. Describe the fourth step of mitosis in detail.
. Draw a picture of each step of mitesis. -
. What is Cytokinesis? & vijicn u-(-ﬁgg ﬁ;{io Flasm
. What is the end result of the cell cycle? 2 identrcai aavghter ceid§
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What is cancer? (vh E4ntroted Qrowth ot ceus

What is a tumor? mass of cel'

What is a benign tumor? nop- Cunteyows MasS

What is a malignant tumor? Cancerops mas s

If a cell had 20 chromosomes at the beginning of interphase, how many will it have at the end of
interphase? 4 &

. If a human skin cell needed to reproduce because of a paper cut (humans have 46 chromosomes in their
skin cells), how many will the new skin cell have at the end of cytokinesis? L—} (o

How does a plant cell’s cytokinesis differ from an animal cell? nzed v fhave o ceil plate due o cell
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Meiosis

Review Guide
What is a gamete? 5 ¢/ ceul
What type of gametes do females have? €24
What type of gametes do males have? spcvim
Define haploid. | sel of chromoiynes
Define diploid. Z 5exS of cnomosones
What is the end result of meiosis I? Z ce*®
What is the end result of meiosis II? 4 cetl> “
Describe what happens during crossing over. (Aweimesemd 5 €xchasae pad 1 o7 G ivetidS
How many chromosomes (total) does a human contain in a somatic cell? 4
. How many chromosomes (total) does a human contain in a gamete? =,
. How many pairs of chromosomes are in a human? 7 %
. What does it mean to have “n” number of chromosomes? hayptor A
. What does it mean to have “2n” number of chromosomes? L« ()[Ou’L
. What is azygote‘7 'fo('h itzed eq() cell ,-,L.-!W"’I .
. What is the major difference between prophase I and prophase 11?7 N T gt R\ ‘!
. What is the major difference between metaphase I and metaphase I1? wﬂi e
. What is the major difference between anaphase I and anaphase II? An. T = ot
. Compare/contrast mitosis and meiosis using 4 differences.
. What is the diploid number of a fruit fly if the haploid number is 4?7 %
. A chimpanzee has a total of 38 chromosomes in its hair cells. What is the haploid number?
Diploid number? — %% =19
21. An earthworm has a diploid number of 36 — what is the somatic number? How many would
be in a gamete? -7 14 Sl
22. A pea plant has a haploid number of 7. How many chromosomes are in a diploid cell? | H
23. A female golden retriever dog is bred to a male golden retriever dog. How many
chromosomes would be in the zygote if the diploid number is 787 7 &
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